


-2-



-3-

M6 X 35

M6 X 16

M6 X 10

ST5 X 12

S4



-4-

M6 X 35

M6 X 10

S4

S4

Please note:      When adjusting the installation length of
the pre installed parts, the screws cannot be unscrewed,
otherwise it may cause the internal fixed square nut to
detach from the screw connection and require  reinstallation.

S4

M6 X 10



-5-

Connection Diagram:

M6 X 16

ST5 X 12

S4



-6-

6. Menu option operation



-7-

In the user mode and stop state, press “   ” and “    ” at the same time for 5 seconds to enter the menu page. Short
press the “   ” and “    ” keys to switch he menu, the switching sequence is as follows: 
P00->P01->P02->P04->P05->P06
Under the menu page: Press the “1” key briefly to enter this setting page. Short press the “   ” and “    ” toys to modify
the parameters under the corresponding menu.
On the setting page, the parameters are displayed with a flashing light. Press the “1” button briefly to confirm
the setting and return to the menu page.
No operation timeout of 5 seconds automatically exits the menu mode and sete and saves the confirmed modified
parameters.

9.Code meaning and processing method:
9.1. The code"E01, E02" indicates that motor 1 and 2 are disconnected. After checking thatthe wiring is 0K, press and
hold the DON button for 5S to reset or power off and restart;
9.2. The code "E03, E04" idicates that motor 1 and 2 are overcurrent. After checking thatthe wiring is 0K, press and
hold the DOWN button for 5S to reset or power off and restart;
9.3. The code "E05, E06" indicates that the Hall wires of motor 1 and 2 are not plugged in.After testing that the
wiring is OK, reinsert the Hall connector;
9.4. The code "E08" indicates obstruction. In case of abnormal obstacles, check whetherthere are obstacles. If the
sensitivity is not appropriate, please refer to the menu section to adjust the sensitivity
9.5. The code "E09" indicates a large deviation in the position of both sides. Afterdetecting that the circuit is not faulty,
press and hold the down button for 5 seconds to reset or power off and restart;
9.6. The codes "E10, E11" indicate high or low voltage. Check whether the power supply iscorrect and hold down the
down button for 5S to reset it Or power off and restart;
9.7. The codes "E12, E13 indicate that the Hall wires of motor 1 and 2 are disconnectedCheck whether the power supply
is correct and hold down the down button for 5S to reset it Or power off and restart;
9.8. The code "E14" represents overload protection. After confirming that the line is OKlong press the down button for 5S
to reset or power off and restart;
9.9. If the above methods fail to solve the problem, unplug the power supply, check that allcomponents and connections
of the system are intact, then power on again and perform theoperation again;
9.10. If the table still cannot function properly after performing the above operations,please contact customer
service for assistance.




